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QUESTION 1

There are two 10Gbps dual-port NICs and one 40Gbps NIC installed on a 23800 Appliance in slots 1, 2 and 3

accordingly. Which interfaces should be connected to Orchestrator 1 for downlinks\\' intra-orchestrator redundancy

when using two Orchestrators?

A. Port 1 in Slot 2 and Port 2 in Slot 1
B. This configuration is not supported
C. Any pair of available ports

D. Port 1 in Slot 1 and Port 2 in Slot 1

Correct Answer: D

QUESTION 2

How many orchestrators may Dual-Site include?
A.2or4

B.2

C.1

D. Only 4

Correct Answer: A

QUESTION 3

What is the difference between Dual-Site and Dual-Room?

A. Dual-Room is a kind of Dual-Site deployment within the same building

B. Dual-Room is Active / Standby and Dual-Site is Active / Active

C. Dual-Room is a Single-Site deployment where all Appliances are connected to both orchestrators
D. They are the same

Correct Answer: A

QUESTION 4

The core four manual diagnostic tools include:
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asg diag verify, asg perf -v, orch_stat -all, and
A. asg diag verify

B. cpinfo

C. hep-rall

D. asg stat -v

Correct Answer: D

QUESTION 5

Which distribution mode assigns packets to an SGM based solely on the packet destination IP?
A. User mode

B. Manual mode

C. Network mode

D. Auto-topology mode

Correct Answer: C
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